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3x3 Matrix{Int64}: .
P e REPEA
8 1 0

9 10 1

julia> L=[1 0 0; 8 1 0; 9 10 1]

julia> U=[2 3 4; 065 6; 0 0 7]

Nofakion  for e N
3x3 Matrix{Int64}:

2 3 4 U{;b):_i as &'\{e‘cﬁk&WW\

@ 5 6 v
06 0 7

julia> L[:,1]
3-element Vector{Int64}:

; i~ Colbmn vecksr

julia> L[:,1]1*U[1,:]"
3x3 Matrix{Int64}:

p. 3 4

16 24 32

18 27 36 9

julia> U[1,:]
3-element Vector{Int64}:

p)
3 & guewwm vaer
4

' julia> L[:,2]*U[2,:]"
3x3 Matrix{Int64}:
0 o0 o

0 5 6

0 50 60

julia> L :,3]*U[3,:]" -~ inney ov" ourer
E [:,31%U13,:] julia> L*U predmcks bur

3x3 Matrix{Int64}: 3x3 Matrix{Int64}: |Re—N sptimed waol

| 6 00 2 3 4 ek o tan
0 0 0 16 29 38 e v
0 0 7 ‘ Spud

18 77 103 ld qu\
sN
julia> sum(L[:,k]*U[k,:]' for k=1:3) naadaSons...

3x3 Matrix{Int64}:

2
T - 2 3 4
kY = Z kkuk 16 29 38

=1 18 77 103
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